

n -Groups ($n > 3$) as Algebras of the Type $\langle n, n - 2, n - 2 \rangle$ With Four Laws

JANEZ UŠAN AND MALIŠA ŽIŽOVIĆ

ABSTRACT. In this article n -groups ($n > 3$) are described as algebras of the type $\langle n, n - 2, n - 2 \rangle$ with four laws.

1. PRELIMINARIES

Definition 1.1 ([2]). Let $n \geq 2$ and let $(Q; A)$ be an n -groupoid. Then:

- 1) We say that $(Q; A)$ is an n -**semigroup** iff for every $i, j \in \{1, \dots, n\}$, $i < j$, the following law holds:

$$A(x_1^{i-1}, A(x_i^{i+n-1}), x_{i+n}^{2n-1}) = A(x_1^{j-1}, A(x_j^{j+n-1}), x_{j+n}^{2n-1})$$

$/: \langle i, j \rangle$ -associative law/;

- 2) We say that $(Q; A)$ is an n -**quasigroup** iff for every $i \in \{1, \dots, n\}$ and for every $a_1^n \in Q$ there is exactly one $x_i \in Q$ such that the following equality holds $A(a_1^{i-1}, x_i, a_i^{n-1}) = a_n$; and 3) We say that $(Q; A)$ is an n -**group** iff $(Q; A)$ is an n -semigroup and an n -quasigroup as well.

Definition 1.2 ([3]). Let $n \geq 2$ and let $(Q; A)$ be an n -groupoid. Further on, let \mathbf{e} be mapping of the set Q^{n-2} into the set Q . Let also $\{i, j\} \subseteq \{1, \dots, n\}$, $i < j$. Then: \mathbf{e} is an $\{i, j\}$ -**neutral operation of the n -groupoid** $(Q; A)$ iff the following formula holds

$$(\forall a_i \in Q)_1^{n-2} (\forall x \in Q) (A(a_1^{i-1}, \mathbf{e}(a_1^{n-2}), a_i^{j-2}, x, a_{j-1}^{n-2})) = x \text{ and} \\ A(a_1^{i-1}, x, a_i^{j-2}, \mathbf{e}(a_1^{n-2}), a_{j-1}^{n-2}) = x.$$

Proposition 1.1 ([3]). Let $(Q; A)$ be an n -groupoid and $n \geq 2$. Also let $\{i, j\} \subseteq \{1, \dots, n\}$ and $i < j$. Then there is **at least one** $\{i, j\}$ -neutral operation of $(Q; A)$.

Proposition 1.2 ([3]). Every n -group ($n \geq 2$) has an $\{1, n\}$ -neutral operation. See, also [7].

2000 Mathematics Subject Classification. Primary: 20N15.

Key words and phrases. n -semigroup, n -quasigroup, n -group, $\{i, j\}$ -neutral operation on n -groupoid.

2. AUXILIARY PART

Proposition 2.1 ([4]). *Let $(Q; A)$ be an n -group, \mathbf{e} its $\{1, n\}$ -neutral operation and $n \geq 3$. Then for every sequence a_1^{n-2} over Q and for all $i \in \{1, \dots, n-2\}$ there is exactly one $x_i \in Q$ such that the following equality holds:*

$$\mathbf{e}(a_1^{i-1}, x_i, a_i^{n-3}) = a_{n-2}.$$

The proof see in [7].

Proposition 2.2 ([4]). *Let $(Q; A)$ be an n -group, \mathbf{e} its $\{1, n\}$ -neutral operation and $n \geq 3$. Then for every $a_1^{n-2}, x \in Q$ and for all $i \in \{1, \dots, n-1\}$ the following equalities hold*

$$\begin{aligned} A(x, a_i^{n-2}, \mathbf{e}(a_1^{n-2}), a_1^{i-1}) &= x \text{ and} \\ A(a_i^{n-2}, \mathbf{e}(a_1^{n-2}), a_1^{i-1}, x) &= x. \end{aligned}$$

The proof see in [7].

Proposition 2.3 ([4]). *Let $(Q; A)$ be an n -groupoid and let $n \geq 3$. Also let the following statements hold:*

- (a) *The $\langle 1, 2 \rangle$ -associative law holds in $(Q; A)$; and*
- (b) *For every $a_1^{n-1}, x, y \in Q$ the following implication holds*

$$A(x, a_1^{n-1}) = A(y, a_1^{n-1}) \Rightarrow x = y.$$

Then $(Q; A)$ is n -semigroup.

The proof see in [7].

Proposition 2.4 ([6]). *Let $n \geq 3$ and let $(Q; A)$ be an n -groupoid. Then: $(Q; A)$ is an n -group iff there is $i \in \{2, \dots, n-1\}$ such that the following statements hold:*

- (α) *The $\langle i-1, i \rangle$ -associative law hold in $(Q; A)$;*
- (β) *The $\langle i, i+1 \rangle$ -associative law hold in $(Q; A)$; and*
- (γ) *For every $a_1^n \in Q$ there is exactly one $x \in Q$ such that the following equality holds: $A(a_1^{i-1}, x, a_i^{n-1}) = a_n$.*

The proof see in [7].

3. MAIN PART

Theorem 3.1. *Let $(Q; A)$ be an n -groupoid and let $n > 3$. Also, let \mathbf{e} and $\boldsymbol{\varepsilon}$ be $(n-2)$ -ary operations in Q . Then: $(Q; A)$ is an n -group iff the following laws hold in the algebra $(Q; A, \mathbf{e}, \boldsymbol{\varepsilon})$ [of the type $\langle n, n-2, n-2 \rangle$]:*

- (i) $A(A(x_1^n), x_{n+1}^{2n-1}) = A(x_1, A(x_2^{n+1}), x_{n+2}^{2n-1}),$
- (ii) $A(x, b_1^{n-2}, \mathbf{e}(b_1^{n-2})) = x,$
- (iii) $A(b_1^{n-2}, \boldsymbol{\varepsilon}(b_2^{n-2}, b_1), x) = x$ and
- (iv) $\mathbf{e}(c_1^{n-3}, \boldsymbol{\varepsilon}(c_1^{n-3}, a)) = \boldsymbol{\varepsilon}(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a)).$

Proof.

1) \Rightarrow : Let $n \geq 3$, $(Q; A)$ be an n -group and \mathbf{e} its $\{1, n\}$ -neutral operation.

Firstly we prove the following statements:

$\circ 1$ For every $a_1^{n-1} \in Q$, there is $(n-2)$ -ary operation \mathbf{e}^{-1} such that the following equivalence holds

$$(a) \quad \mathbf{e}(a_1^{n-2}) = a_{n-1} \Leftrightarrow \mathbf{e}^{-1}(a_1^{n-3}, a_{n-1}) = a_{n-2}^1,$$

$\circ 2$ For every $x, b_1^{n-2} \in Q$, the following equality holds

$$(b) \quad (b_1^{n-2}, \mathbf{e}^{-1}(b_2^{n-2}, b_1), x) = x; \text{ and}$$

$\circ 3$ For all $a \in Q$ and for every sequence c_1^{n-3} over Q the following equality holds

$$\mathbf{e}(c_1^{n-3}, \mathbf{e}^{-1}(c_1^{n-3}, a)) = \mathbf{e}^{-1}(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a)).$$

The proof of $\circ 1$: By Prop. 2.1.

The proof of $\circ 2$:

Putting (a) in

$$A(\mathbf{e}(a_1^{n-2}), a_1^{n-2}, x) \stackrel{1.4}{=} x,$$

we obtain

$$A(a_{n-1}, a_1^{n-3}, \mathbf{e}^{-1}(a_1^{n-3}, a_{n-1}), x) = x.$$

Whence, by the substitutions $a_{n-1} = b_1$ and $a_1^{n-3} = b_2^{n-2}$, we have (b).

Sketch of the proof of $\circ 3$:

$$a) \quad (\mathbf{e}^{-1})^{-1} = \mathbf{e}.$$

$$b) \quad \mathbf{e}^{-1}(c_1^{n-3}, a) = \mathbf{e}^{-1}(c_1^{n-3}, a) \stackrel{\text{def}}{\Leftrightarrow} (\mathbf{e}^{-1})^{-1}(c_1^{n-3}, \mathbf{e}^{-1}(c_1^{n-3}, a)) = a \\ \stackrel{a)}{\Leftrightarrow} \mathbf{e}(c_1^{n-3}, \mathbf{e}^{-1}(c_1^{n-3}, a)) = a.$$

$$c) \quad \mathbf{e}(c_1^{n-3}, a) = \mathbf{e}(c_1^{n-3}, a) \stackrel{a)}{\Leftrightarrow} (\mathbf{e}^{-1})^{-1}(c_1^{n-3}, a) = \mathbf{e}(c_1^{n-3}, a) \\ \stackrel{\text{def}}{\Leftrightarrow} \mathbf{e}^{-1}(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a)) = a.$$

d) By b) and c), we obtain $\circ 3$.

Finally, by $\circ 1 - \circ 3$, Def. 1.1.-1) and by Prop. 1.4, we conclude that the direction " \Rightarrow " holds.

2) \Leftarrow : Firstly, we prove the following statements:

$\overset{\circ}{1}$ For every $x, y, a, a_1^{n-2} \in Q$ the implication holds

$$A(x, a, a_1^{n-2}) = A(y, a, a_1^{n-2}) \Rightarrow x = y;$$

$\overset{\circ}{2}$ $(Q; A)$ is an n -semigroup;

$\overset{\circ}{3}$ $(\forall a \in Q)(\forall c_i \in Q)_1^{n-3} a = \mathbf{e}(c_1^{n-3}, \varepsilon(c_1^{n-3}, a))$;

¹Cf. [Belousov 1972].

4 For every $x, y, a, a_1^{n-2} \in Q$ the implication

$$A(a, x, a_1^{n-2}) = A(a, y, a_1^{n-2}) \Rightarrow x = y$$

holds;

5 For every $x, y, a, a_1^{n-2} \in Q$ the equivalence holds

$$A(a_1^{n-2}, x, a) = A(a_1^{n-2}, y, a) \Leftrightarrow x = y; \text{ and}$$

6 For every $x, a, b, a_1^{n-2} \in Q$

$$\begin{aligned} A(a, x, a_1^{n-2}) = b &\Leftrightarrow \\ x = A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})) &. \end{aligned}$$

Sketch of the proof of 1 :

$$\begin{aligned} A(x, a, a_1^{n-2}) &= A(y, a, a_1^{n-2}) \stackrel{n \geq 3}{\Rightarrow} \\ A(A(x, a, a_1^{n-2}), \mathbf{e}(a_1^{n-2}), c_1^{n-3}, \mathbf{e}(a, c_1^{n-3})) &= \\ A(A(y, a, a_1^{n-2}), \mathbf{e}(a_1^{n-2}), c_1^{n-3}, \mathbf{e}(a, c_1^{n-3})) &\stackrel{(i)}{\Rightarrow} \\ A(x, A(a, a_1^{n-2}, \mathbf{e}(a_1^{n-2})), c_1^{n-3}, \mathbf{e}(a, c_1^{n-3})) &= \\ A(y, A(a, a_1^{n-2}, \mathbf{e}(a_1^{n-2})), c_1^{n-3}, \mathbf{e}(a, c_1^{n-3})) &\stackrel{(ii)}{\Rightarrow} \\ A(x, a, c_1^{n-3}, \mathbf{e}(a, c_1^{n-3})) &= A(y, a, c_1^{n-3}, \mathbf{e}(a, c_1^{n-3})) \stackrel{(ii)}{\Rightarrow} \\ x &= y. \end{aligned}$$

The proof of 2 : By 1, (i) and by Prop. 2.3.

Sketch of the proof of 3 :

$$\begin{aligned} A(a, c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a), \mathbf{e}(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a))) &\stackrel{(iii)}{=} \mathbf{e}(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a)), \\ A(a, c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a), \mathbf{e}(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a))) &\stackrel{(ii)}{=} a. \end{aligned}$$

Sketch of the proof of 4 :

$$\begin{aligned} A(a, x, a_1^{n-2}) &= A(a, y, a_1^{n-2}) \stackrel{n \geq 3}{\Rightarrow} \\ A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, A(a, x, a_1^{n-2}), \mathbf{e}(a_1^{n-2})) &= \\ A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, A(a, y, a_1^{n-2}), \mathbf{e}(a_1^{n-2})) &\stackrel{2}{\Rightarrow} \end{aligned}$$

$$\begin{aligned}
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, a, A(x, a_1^{n-2}, \mathbf{e}(a_1^{n-2}))) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, a, A(y, a_1^{n-2}, \mathbf{e}(a_1^{n-2}))) \stackrel{(ii)}{\implies} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, a, x) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, a, y) \stackrel{\circ}{\stackrel{3}{\implies}} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, \mathbf{e}(c_1^{n-3}, \varepsilon(c_1^{n-3}, a)), x) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, \mathbf{e}(c_1^{n-3}, \varepsilon(c_1^{n-3}, a)), y) \stackrel{(iv)}{\implies} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, \varepsilon(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a))x) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, \varepsilon(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a)), y) \stackrel{(iii)}{\implies} \\
 & x = y.
 \end{aligned}$$

Sketch of the proof of $\overset{\circ}{5}$:

$$\begin{aligned}
 & A(a_1^{n-2}, x, a) = A(a_1^{n-2}, y, a) \implies \\
 & A(d_1^2, A(a_1^{n-2}, x, a), d_3^{n-1}) = A(d_1^2, A(a_1^{n-2}, y, a), d_3^{n-1}) \stackrel{\circ}{\stackrel{2}{\implies}} \\
 & A(A(d_1^2, a_1^{n-2}), x, a, d_3^{n-1}) = A(A(d_1^2, a_1^{n-2}), y, a, d_3^{n-1}) \stackrel{\circ}{\stackrel{4}{\implies}} \\
 & x = y.
 \end{aligned}$$

Sketch of the proof of $\overset{\circ}{6}$:

$$\begin{aligned}
 & A(a, x, a_1^{n-2}) = b \stackrel{\circ}{\stackrel{5}{\iff}} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, A(a, x, a_1^{n-2}), \mathbf{e}(a_1^{n-2})) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})) \stackrel{\circ}{\stackrel{2}{\iff}} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, a, A(x, a_1^{n-2}, \mathbf{e}(a_1^{n-2}))) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})) \stackrel{(ii)}{\iff} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, a, x) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})) \stackrel{\circ}{\stackrel{3}{\iff}} \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, \mathbf{e}(c_1^{n-3}, \varepsilon(c_1^{n-3}, a)), x) = \\
 & A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})) \stackrel{(iv)}{\iff}
 \end{aligned}$$

$$\begin{aligned}
& A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, \varepsilon(c_1^{n-3}, \mathbf{e}(c_1^{n-3}, a)), x) = \\
& A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})) \stackrel{(iii)}{\Leftrightarrow} \\
& x = A(\mathbf{e}(c_1^{n-3}, a), c_1^{n-3}, b, \mathbf{e}(a_1^{n-2})).
\end{aligned}$$

Finally, considering $\overset{\circ}{2}, \overset{\circ}{4}$ and $\overset{\circ}{6}$, by Prop. 2.4, we conclude that $(Q; A)$ is n -group. \square

Similarly, one could prove also the following theorem:

Theorem 3.2. *Let $(Q; A)$ be an n -groupoid and let $n > 3$. Also, let \mathbf{e} and ε be $(n-2)$ -ary operations in Q . Then: $(Q; A)$ is an n -group iff the following laws hold in the algebra $(Q; A, \mathbf{e}, \varepsilon)$ [of the type $\langle n, n-2, n-2 \rangle$]*

$$\begin{aligned}
& (\bar{i}) \quad A(x_1^{n-2}, A(x_{n-1}^{2n-2}), x_{2n-1}) = A(x_1^{n-1}, A(x_n^{2n-1})), \\
& (\bar{ii}) \quad A(\mathbf{e}(a_1^{n-2}), a_1^{n-2}, x) = x, \\
& (\bar{iii}) \quad A(x, \varepsilon(b_{n-2}, b_1^{n-3}), b_1^{n-2}) = x \text{ and} \\
& (\bar{iv}) \quad \mathbf{e}(\varepsilon(a, c_1^{n-3}), c_1^{n-3}) = \varepsilon(\mathbf{e}(a, c_1^{n-3}), c_1^{n-3}).
\end{aligned}$$

Remark 3.1. For $n = 3$: $\mathbf{e}^{-1} = \mathbf{e}$.

(See $\circ 2$ in the Proof of Th. 3.1, Prop. 2.2 and Def. 1.1-2).)

REFERENCES

- [1] Belousov 1972 V. D. Belousov, n -ary quasigroups, (in Russian), Stiinta, Kishinev 1972.
- [2] Dörnte 1928 W. Dörnte, *Untersuchungen über einen verallgemeinerten Gruppenbegriff*, Math. Z., **29** (1928), 1–19.
- [3] Ušan 1988 J. Ušan, *Neutral operations of n -groupoids*, (in Russian), Rev. of Research, Fac. of Sci. Univ. of Novi Sad, Math. Ser., **18**(1988) No. **2**, 117–126.
- [4] Ušan 1995 J. Ušan, *On Hosszú–Gluskin algebras corresponding to the same n -group*, Rev. of Research, Fac. of Sci. Univ. of Novi Sad, Math. Ser., **25** (1995), No. **1**, 101–119.
- [5] Ušan 1997 J. Ušan, *n -groups as variety of type $\langle n, n-1, n-2 \rangle$* , in: Algebra and Model Theory, (A.G. Pinus and K.N. Ponomaryov, eds.), Novosibirsk, 1997, 182–208.
- [6] Ušan 1999 J. Ušan, *A note on n -groups for $n \geq 3$* , Novi Sad J. Math., **29** (1999), No. **1**, 55–59.
- [7] Ušan 2003 J. Ušan, *n -groups in the light of the neutral operations*, Math. Moravica, Special Vol. (2003), monograph, (Electronic version – 2006: <http://www.moravica.tfc.kg.ac.yu>).

INSTITUTE OF MATHEMATICS
UNIVERSITY OF NOVI SAD
D. OBRADOVIĆA 4
21000 NOVI SAD
SERBIA

FACULTY OF TECHNICAL SCIENCE
UNIVERSITY OF KRAGUJEVAC
SVETOG SAVE 65
32000 ČAČAK
SERBIA
E-mail address: zizo@tfc.kg.ac.yu